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Section 9.6
1.1 3. X —4x+2
7.-a’+4a-2ah+sh-h?-2 9 _ 2P~
a‘h® —2ab+1

13— 5. X1

Xx+1) X+1
19. x 21, Jx—-1+x*>+1

2

25. & X+2 27. (x* +1Wx—1
31.22 33.95
37. 6x®> —3x+13 39. 9x+4
43. 2 45. 2
49. X 51. /3
55. | 2t—-1|+1 57. a+7
59. a* —4a’b+6a’b® —4a® —4ab® +8ab+b* —4b% +2
61. x+h-1 63. x-1
67. Vx> -1 69. x* —4x% +2

23.

29.
35.
41.

47.

53.

65.

4x% —4x -1



Section 9.7

1 1
—a+===b+=
Ta+4=Tb+4 4 3 a-1=+b-1
1. 7a=T7b 3 la:lb 5. a-1=b-1
a=b a—b a=
1 1
2a = 20 arl bal
7.3/a=3b 9.b+l=a+1 11. No
a=b b=a
13. Yes 15. No 17. (fog)x)=x, (go f)x)=x
19. (fog)x)=x, (go f)x)=x 21. (fog)x)=x, (go fx)=x
23. (fog)x)=x, (go fx)=x 25. (fog)x)=x, (go fx)=x
27. (fog)x)=x, (go fx)=x 29. (fog)x)=x, (go f)x)=x
31. f-l(x):XT‘4 33 f‘l(x):3x—% 35. f(x)=—4x+2
37. g(x)=x* 39. g (X)=—x*+2 41. g (x)=3/x—4
—4 1
43. gi(x)= |2 =2 45. h(x)==
04(0= 0=
, 1 ; 1 ; (x—2)°+3
47. h'(x)==-1 49. h'(x)=——+1 51 Y(x)=
(=" 0=t 4 f1(0=2
—2X x—-1 X—8
53. f H(x)=—~ 55. g *(x)= 57. h™}(x)=
x)=>= 9 ()=~ (x)=4=
2
59. f’l(x):(x+1) -1 6L f(x)=¥x*+2 63. f*(x)= L
4 X+2
1
65. h™(x)=
() (x—2)
67. 69.
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75. f1(x)=(x—-1)* D:[L ) 77. £ 7(x)=x* -1 D:[0,)
79. £1(x)=—x*+2 D:[0,) 81. f1(x)=+/x—1 83. f(x)=—/x-2
Section 9.8
1. $30; $50 3. $3250; 6 computers 5. 85.73 board feet; 166.69 board feet
7. 6 teams; 45 games 9. 2 seconds 11. 9.7-ft; 67.2-ft
13. 1.11 sec; 3.24-ft 15. $50; $480; Yes
17. A(wW) =2w? +3w; 14 m?;3mby9m  19. A(l)=1% —1; 90 sq ft; 5 ft by 4 ft

3b% +2b .
21. Alb)= B 42.5 sq yd; base 4 yd, height 14 yd

V®S? 2
23.V(S)= g 25. A(w)=25w—w?; 66 sq yd; 2 yd by 23 yd.

T
2

27. A(C):C—; o4 ~20.4—yd*; C zlyd

dr 2

2 2

29. A(l)= I—; 4 127-in% Lin 31. A(x)= 200X =X". 31550 sq ft; impossible

A & 2

_ 2

33. A(x)= M; 10650 sq ft; shorter side 20 ft, longer side 170 ft
35. A(x)="50x —2x?; 252 sq yd; longer side of 20 yd shorter sine of 10 yd
37. 3cm 39. 23.75 Ibs 41. 25.3 Ibs/in? 43. 6.4 ft 45, 2.61in
47. 675 units 49. 6.4 hrs 51. 4in 53. 146.7 Ibs 55. 30 amps

57. 2250 Ibs 59. 9.75cm 61. 10 ft/sec



